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Instructions for the Candidates
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on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper 111

A
gyAutreRt 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Paper contains Seventy five (75) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.
GOl : A1 GAUAh THY Ue@wl (75) Sgaar ued ol oTRd. Yok Ueen g (2)
O STed. WE WRA W

1. Which one of the following was the | 1 grefrertas UTHEA YT ST

major reason for which the

" e fagTaTan e ISR oy
continental drift theory was

el ?
denounced by many scholars ? ’
(A) the theory was considered as (A) =1 fagram  S=fer shedehen’ He
science fiction
el

(B) Wegener was not an earth

\l
scientist (B) AR RIEAR gl

(C) force mentioned by Wegener for (C) TSTRAMIS ITRA HifiTdere! e G-

drifting was inadequate

Ted

(D) some of the evidences were not

. (D) *E U @EREes o
convincing

3 [P.T.O.



o))
2)
3)
4)

Consider the following statements

and choose the correct answer from

among the options given :

Statement (1) : Convergent plate

boundaries have a fold mountain

system in their vicinity.

Statement (2) : All fold mountains

are located near the convergent

plate boundaries.

Options

(A) Both the statement are correct

(B) Both the statements are false

(C) Statement (1) is true but (2) is
false

(D) Statement (1) is false but (2) is
true

Select Geomorphic Process (List I)

and their associated landforms (List

II) are given below :

Choose the correct answer from the

codes :

List 1 List II
(Process) (Landforms)
Fluvial () Lunetteses
Glucial (i1) Coves
Aeolian (ziz) Levees
Solution (fv) Hummocks

(v) Regs
Codes :

A) (H)—(v), (2)—@@), (3)—(iv),
(4)—(1)

B) (1)—@), (2)—(v), (3)—(iir),
(4)—@v)

C) (1)—C@Gv), (2)—(1), (3)—(v),
(4)—(@)

D) (1)—(ii), (2)—@v), (3)—(v),
(4)—(@1)

2.

Trat I (ufema

(1) veeE @)
2) TeuEH (if)
(3) drdsl (Aeolian)
(4) faeg/g@Em

MAY - 36316/II1—A

el faummEn foear s T syl

oot e A gatg feer

faam (1) : ' yuee e diwen

Aol YNTd gt gad eTed.

e (2) : 9e Il TEd YU TR

HHISdS Hleldld.

=i

(A) T fouam 9 eTed

(B) Tt foum 1@ emRa

(C) faum (1) ¥ =% W faum (2)
I M

(D) faum (1) 9= 8 W faum (2)
T 3R

Tl faesh e gishan (A6l 1)
9 =l ffed & v (It 1) feeret
3TRd. g¢ Uikl 9 &Y A=A Siiedrd
Hehd ool oTRd WA 3Tk Hehd

IREEIEE

RICUS | ()
TAHH
o
(1) YL
(iv) T
) T

Hehdich :

A) (1)—(v),
(4)—)

(B) (1)—(@),
(4)—(@v)

(C) (LH)—(v), (2)—@G2), (3)—(v),
(4)—@)

D) (1)—(Gi), (2)—(Gv), (3)—(v),
4)—@)

(2)—@), 3)—(v),

(2)—(), 3)—(i),




Major Powell propounded the
concept of base level of erosion on

the basis of his expedition in :
(A) Henry Mountains

(B) Appalachian mountains
(C) Grand Canyon

(D) Colorado Plateau

Assertion (A) : “Slope is both the

cause and effect of erosion.”

Reason (R) : Slope represents the
rate of change of elevation with
reference to horizontal distance, in
other words it is also the rate of
conversion of potential energy into

kinetic energy.

(A) Both the statements are true
and (R) 1is the proper
explanation of (A)

(B) Both the statements are true
but (R) is not the proper
explanation of (A)

(C) Statement (A) is correct but (R)

is false

(D) Statement (A) is false but (R)

1s true

MAY - 36316/III—A
TSR it AT STA&RMe STERY Iies!
A - Y -
HifgHeared gfadied shell 3.

(A) B Teld

(B) 3focif¥rEs weld

(C) U=e H=H

(D) hIdREN Y3R

faem (A) : 'SAR 7 SuERTmE %R0
amfor aRome =l ee.

®RUT (R) : AR, 3HAA STAUTIR
BT sgalr Gidfeied sl o
AR gw 399 nfas= 3Sfa g
el widrei .

(A) o0 Sel faum seR 3med 9 (R)
T (A) 9 I WERU AR

(B) o =l faum sRIeR med W
(R) ® (A) = Irg TR0 6]

(C) T8 (A) SR TR g fasm (R)
I 3R

(D) =a (A) 9% 3¢ Wg fau™ (R)
ERELEEIF

[P.T.O.
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‘Decline of slope’ is the process ‘TAR HHE B o & wiwer
indicated by ......... for the T+ SaR TR T,
development of slopes.
(A) Albert Penk (8) T T
(B) Davis (B) <Sfeew
(C) King and Wood (C) fopm amfor 9
(D) Walter Penk (D) aeeX U=h
......... proposed a nine unit model for e iy SARTENT o TER B0
slope studies incorporating facts of iRl U AR % Teheh YiadH
slope processes operating over it. oS,
(A) A. Young (A) 3. I
(B) Darlymple (B) EreAiwId
(C) A. Penk (C) 3. T
(D) Peltier (D) Tfeesr
Match the following and select the e Sega ST Ard 9 et feeiean
correct answer from the codes given {*icl‘:)clichlckl faer .
below : a1 a1
List I List II (@) T&q WHU (WEE) (1) @R 9 Ao AR
(a) Macroscale (Planetary) (1) Land and sea breeze (b) 9= FHIU (fafzmse (2) B'QEFZITCI"} W
(b) Macroscale (Synoptic) (2) Dust devils HTCh ) e
(¢c) Mesoscale (3) Hurricanes (c) H¥ FHII (3) Blh=g
(d) Microscale (4) Westerlies (d) g&H JHM (4) 9=t AR
Codes : Hehdleh :
(@) b) (c) d) (@) (b) (c) (d)
A) @) (1) 3) (2) A @) (1) 3) (2)
(B) (3) (2) 4) (1) B O (2) 4) (1)
< @ 3) (1) (2) < @ 3) (1) (2)
® @ @O & @ ™ @ @O & @




Assertion (A) : The isotherm lines
remain almost parallel to one
another and parallel to latitudes on

oceanic surfaces.

Reason (R) : Temperature at
meritime location are free from effect

of elevation.

Select the correct alternative using

the codes below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 36316/III—A
faam™ (A) : SO TG FHATIRS

THHGHE d ST S STded THIHR

ST

SHROT (R) : 9 T AT9HE S

ROTHTAEA Ho ST

@il Hishdishldent Iy faeheq
aer

- -
.
.

(A) (A) @ (R) Sl SR 3ATed 3TIfUr

(R) T (A) 3 T TR 3T

~

(B) (A) 4 (R) &t sRIeR 31ed W (R)

T (A) T T TR AR

(C) (A) ¥ R o Wg (R) § I
3T

D) (A) § I% 3¢ Wg (R) T SR
3Te

[P.T.O.



10.

Which one of the following is correct
chronological sequence of storms by

its names in Bay of Bengal ?

2014 2013 2013 2012 2010
(A) Hudhud Lehar Helan Nilam Laila
(B) Hudhud Nilam Helan Lehar Laila
(C) Nilam Helan Laila Hudhud Lehar
(D) Hudhud Nilam Lehar Helan Laila

11. A wintertime index—Windchill’

12.

USES wuvvennennnn to calculate the human

sensation of temperature.

(A) air temperature

(B) rainfall and air temperature
(C) wind and air temperature
(D) wind

Heat stress index links
determine the thermal comfort of

human body.

(A) wind and temperature

(B) air pressure and temperature
(C) sunshine and temperature

(D) humidity and temperature

10.

MAY - 36316/II1—A

EATeTUeh! sTer=d] SN See=l

AEAER IR HIAhT RVl R ?

2014 2013 2013 2012 2010
WTSEE AR Ted  em wen
B)gSge  flom T W oIl
©ffem ¥ T TEgS TR
DFSge Fom R Fed el
11. AMEATET ArOHEME S10E SfauarETel

12.

] o

feaTesaTdie  amd-3fass '

17

qiEl A4 e enledld.

(A) &9 AIHH

(B) USi=1 & BA9 dIHM

(C) IR & B9 q9qH

(D) IR

Hrat IO 371TS0TeR Tereer StfavamEmet
SATOTRT SS0Tel QroT feTieh RIE|
He W 3Tl

(A) IR 9 AYHEE

(B) 9g¥R & ATTHM

(C) QIR d AIHH

(D) oTsd & qEE
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13. Read the statements (@) and (b) and 13. faum (@) 9 f&BuE (b)) =¥ a=F HEd

choose the correct answer from the

codes given below :

(@) In general, regions influenced
by high pressure, with its
associated subsidence and
divergent winds, receive ample

precipitation.

(b) The general features of the
global distribution of preci-
pitation can be explained by
global winds and pressure

systems.
Codes :

(A) Both (a) and (b) are true and
(b) is the correct explanation

of (a)

(B) Both (a) and (b) are true but (b)
is not the correct explanation

of (a)
(C) (a) is true but (b) is false

(D) (a) is false but (b) is true

o N

ERY Erell feeiean Hehdrhiqd A

fasea faet

(@) IoACIE ST RN el TeoHd
nfor ST9ERt ar AT weTferd weemd
TR IHE Tl

(b) T TEE faaoTdiel HEETHA
IR T IR 9 TR YT

JEER T Il AdTd.

(A) (@) T (b) Tl SRR Ted 9 (b)

T (@) 3 TgH TARHI TR

faY N

(B) (a)F (b) Tt IR 3TMed W (b)

T (@) ¥ gH TR ARG

(C) (a) SR AR TG (b) § I
I

D) (@) I 3R T (b) & T 3R

[P.T.O.



14.

15.

16.

Which two of the following cloud
types do not fit into classification

based on height ?

(A)

Cumulus and stratocumulus

(B)

Nimbostratus and cumulo-

nimbus

(C)

Cirro-cumulus and cumulus

(D)

Cumulus and cumulonimbus

Mean monthly temperature values

in coldest month are

............

tropical rainy climate.

(A) between —3°C and 18°C
(B) less than -3°C

(C) between —3°C and —18°C
(D) greater than 18°C

During the ocean basin development
stage shows the following

characteristics “broad ocean basin

widens, trenches develop and

subduction begins.”
(A) Embryonic

(B) Juvenile

(C) Mature

(D) Declining

14.

15.

16.
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AN\ NN LN c A
LAl Yehl <nlUld _Q;IT‘T <llld Heh[X sHIAY

M fieR<ud o9d Aeid 2

(A) I i LRged
(B) THargeq snfor sgqeterd
(C) TeiergerE enfor g™

(D) I ST Ao

IEUTh{eaENT IO gATAMIACT ShATC =T
I TR HITEeh T arqH o

(A) —3°C 4 18°C =1 M
(B) —3°C Ul HHl
(C) —3°C 4 —18°C =1 M

(D) 18°C Y&l S

el A& fogd Jard ¢ Saraeh S Rl
TTEd, At T BT § THIE EETd
7.

(A) TuferEen

(B) dreamaEen
(C) HrererEen

(D) “erTeEen

10



17.

18.

Assertion (A) : In Atlantic Ocean,

Oceanic trenches are largely absent.

Reason (R) : Atlantic Ocean has
divergent boundaries of various
lithospheric plates in the form of mid-

Atlantic Ridge.

Read the statements given above
and choose the correct option from

the following :

(A) Both (A) and (R) are true and
(R) is the proper explanation of

(A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The tidal range at ........... is supposed
to be the highest recorded tidal

range in the world.
(A) Bay of Fundy
(B) Hudson Sea
(C) Gulf of Bothnia

(D) Black Sea

17.

18.

MAY - 36316/III—A
faam (A) : sTedifes HBMIRG SR

Tl dgdeh e 3R,

HIOT (R) : STAIfCH HIENNG 3T
Tercmereia queeren faertientoia S

e 3Tl W=AT W& 3Rd.

R faum aTF Eeliel TH YT ST
ERIRIEEEIEE:

(A) (A) F (R) T=I Tagm seR 3w
[R) T (A) = A7 TR0 3R

(B) (A) T (R) <l faem sfisR o1
R) ¥ (A) 3 I TEIFIO TG

(C) (A) TR =T g (R) T I 3T

(D) (A) T 38 WG (R) § SR 3T

Jfid IATRET B S Faid
S faftfara demeRan STR.

(A) HSET STENR
(B) sedd 9%
(C) g STeEd

(D) <hTedl |HS

11

[P.T.O.



19.

20.

Which one of the following
statements is incorrect about

biodiversity hotspot ?

(A) It must contain at least 1500

endemic species

(B) It has to have lost at least 70%

of its primary vegetation

(C) It is a biogeographic region rich
in biodiversity that is under

threat from humans

(D) Maldive island is known for

biodiversity hotspot in South
Asia
Energy flow in a ecosystem is ........
(A) Unidirectional
(B) Bidirectional

(C) Multidirectional

(D) Non-directional

19.

20.

MAY - 36316/III—A
Safafaedea glewie dIed  Selciueh!

HIod fouE g% e ?

(A) T fHAM 1500 FoRSS FSrd!
3T AEIIE 3R

(B) Wil @fifer aeadiyent foram

70% T= A STHTATd

(C) 7 SEfafaea TgE 3T Uae Tal

I SITAT HHEATAEA B GIgd

I

(D) Al o< ©§ QiU SRR
Stafafagas glewie A 3w

12
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21. Which one of the following is not | 21. w@reiieiient U G ol WIEE FhR
a major type of fresh water T 2
ecosystem ?
(A) =R
(A) Lentic
(B) Lotic (B) <=
(C) Wetland © ﬂlﬁ’{‘zﬁ
(D) Profundal (D) W
22. Which two of the following coastal | 22. TTeRISIR & W&Ig =1 Sr=a1 HHEIRTE™
areas, apart from Nicobar and JdTes TSI Wefietish! ShIveT i
Lakshadweep is land show coral reef IR A e weena foemfea
development : T 3R 2
(1) Karnataka coast (1) hAfesh fomam
(2) Gulf of Khamboyat (2) WYEE 3T
(3) Gulf of Mannar (3) HERE 3@
(4) Gulf of Kuchch (4) F=9 STEmE
(A) (3) and (4) (A) (3) =Tfur (4)
(B) (2) and (4) (B) (2) i (4)
(C) (1) and (3) (©) (1) =TT (3)
(D) (2) and ) D) (@) @ (3)
13 [P.T.O.



23.

24.

Given below are the major forest
types observed in Himalaya region.
Which of the following is the correct
sequence of forest types with respect

to increasing altitude :

(A) deciduous—mixed—coniferous
—alpine meadows
(B) coniferous—mixed—deciduous

—alpine—meadows

(C)

deciduous—mixed—alpine

meadows—coniferous

(D) mixed—coniferous—deciduous

—alpine meadows

Which of the following Greek
contributions to Geography were lost
during the middle ages especially in
Europe ?

(A) Knowledge about the spherical

shape and circumference of the
earth

(B) T-O world maps with east shown

at the top of the map

(C) Ability to draw maps using
gridlines with mathematical

base

(D) Art of making Portolano Charts

23.

24.
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fedTe@a feegd JUR Jq@ 9

TS Yeh R et oot TR, <ATeie
el SHITUR  STHUIRT A1 SThH
@

(A) TS —ayg—g=Taui—steursa
Exull

D

(B) HEuoi—fHy—asrel—sTeurs
Exul

(C) dTsrel—MHy—3Teursd I —
ot

(D) fag—g=goi—ursrei—steursa
Eaul

W] ShIvTdl TSR] Wk ANTe
SR TeA e, Tomre : JAard e
fam ggen dar ?

(A) geef=n TMereRR 3for foeen aftatadi=
A

(B) T-O A=l <ahm! <aiaX qafeem
ToRTETAT TSR gEifoelt TR

(C) SIBNE aTR &% TRl T

HOATE] &I

(D) TR (I1EY) SIEe It
Sl

14



25.

26.

27.

Which of the following statement is

not correct ?

(A) Aristotle followed the inductive

approach

(B)

Herodotus was the follower of

Ionian school of thought

(C) Plato followed the deductive

approach

(D)

The geocentric concept was

given by Ptolemy

The first climatic Atlas (Kitabul-
Ashkal) was prepared by :

(A) Al-Balakhi
(B) Al-Masudi
(C) Al-Beruni
(D) Al-Maqdeesi

The main contribution of Ibn-

Khaldun was in the field of :
(A) Historical Geography

(B) Human Geography

(C) Physical Geography

(D) Regional Geography

MAY - 36316/II1—A

25. Welauesh! HIUM a8 o o ?

26.

27. ISI-WegA drd AN

(A) 3fEfee farmHr SR STTER
el

(B) TUered g fa=m gammEn
T e

(C) wieH frmt gedfehama STTERu
el

(D) YFhald Fehoudl 2ol I HISat

qfgett gemaHrEl FRRn wUE (feRded

3IgRT) IV TN hell ?
(A) FA-saTE!

(B) FcI-FgEt

(C) FcA-sRE!

(D) TA-FehfeHl

N NN

HIQI A

GENES 3TR.
(A) Ufererfess sfre
(B) AMet o

(C) WTehideh Yl
(D) fers ot

15

[P.T.O.



28.

29.

The chorological approach in

Geography was initiated by :
(A) Richard Hartshorne

(B) Hettner

(C) Richard Peet

(D) Richthofen

Decide the validity of the following
statements by selecting the correct

option given below :

(@) ‘Who gets what, where and
how’, is the key question posed

by the proponents of ‘locational
school’ in the 1970s.

(b) By conducting researches on
themes related to quality of
living, housing, access to basic
Welfare

Human Geography proponents

amenities, etc.,

appreciably attempted to make

the subject socially relevant.

(A) Both the statements (a) and (b)

are false

(B) Statement (a) is false (b) is true

(C) Both the statements (a) and (b)

are true

(D)

Statement (a) is true (b) is false

28.

29.

MAY - 36316/II1—A
T Teeh! It eie feuuft Seft ?
T hIarsied’ o]
AT e,
(A) = e
(B) &R
(C) f=E de
(D) Raeire

Wrefidl Tasm= Tcrar Eeiid atdiie!

o

[ag HRell @

3fea qai™

(@) ‘i w1 fHesd, |S A K9’
B T foaRER=n k]
1970 =A1 ST SR hededl
Fooal YT T

SO OTer, TESUCTSEl, HeA¥d
g T, stereRe faeamn

TGINYT HET HATURTT AT

(b)

Tiare qRERcHl e fas™
qrTfSTehg s |ief hvamEl W
IS el

(A) (a) M0 (b) & <t forem srgerReit
e

B) (a) T f99M ATRIN 8 W (b)
FRS [ G

(C) (a) 0T (b) & SI= faem Heesit
e

(D) faem (o) @R aR W (b)
TR 3TE
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30. Decide the validity of the following

statements by selecting the correct

option given below :

(@) An input becomes a resource as
it is perceived to have both

utility and value

(b) In the era of globalisation
experiences of nature, culture,
life in rural areas or even slums

tend to acquire exchange

MAY - 36316/II1—A

30. YEia foumi= T @mefia qararent

e Tt e uReEn -

(@) TR ¥ degia HHET TUA el

ST STegl I U ST Heorg]
T Y Bl

STRTT TR eh U= T e, S&ahat,
oS fehar Sugugidiel STl
FTETETAT STINEHT SR W

Tl
(@) 3701 (b) & =t faum goaestt

(b)

(A)

value -
(A) Both the statements (a) and (b) B) (o) o TeREl ® () STEE-
are true .
(B) Statement (a) is true (b) is false ©) (@) foum sraeRe @ (&) ges
(C) Statement (a) is false (b) is true e
(D) Both the statements (a) and (b) D) (a) 3T (b) & Sl faer sreerEel
are false e
31. In which of the area given below, | 31. el fGcican v YT ot AT
the life expectancy is the lowest ? RN TR ?
(A) Africa (A) STIThehT
(B) Europe (B)
(C) South America (C) efaqor st
(D) South Asia D) Tfao s
17 [P.T.O.



32.

33.

Which of the following State/UT
has the highest sex-ratio in 2011

census ?

(A) Puducherry

(B) Tamil Nadu

(C) Andhra Pradesh
(D) Manipur

On the basis of Indian Census 2011,
which of the following statements is

incorrect ?

(A) The sex-ratio in India is decent

and improving year by year

(B) It is estimated that population
of India will be stabilised in

2060

(C) Growing by the current
population growth, India will

cross China population by 2030

(D)

India’s 35% population is below

the age of 25 years

32.

33.

MAY - 36316/II1—A

EATeAUeh! ShTUTcT o3/ <h geNTad e 9T=

SO 2011 THR Faifd S femsmmT
A ?

A) gg=ad
(B) e
(C) sTyues
(D) W

GATE SOET 2011 T SRR,

Tt hod faam 9% o ?

(A) vRare famyamor Sfeq o)
ToTies foenfaa 8 oTe

(B) YAl ShEEa 2060 A& feeRr

RIS Y SIS el 3

(C) AU ARIEIAERTHY J¢ Bid

g™ @ ¥ 2030 A& 9N

= qe SEd

(D) YRS 35% TAIhEE 25 ol
HE TSI 3R

18
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34. Migration is an important factor | 34. = AT TIATR Teh HgA™l ®Zeh
in : e,
(1) Changing age composition (1) <o o9 ey
2) Ch i iti .. o .
(2) anging sex composition (@) e T sy
(3) Inducing high birth rates
(3) = SHUH =Tl
(4) Diffusing culture and infor-
mation (4) TERdl 9 Hifed= TER00
Select the correct answer from the welerien! a9 faseq faer
following :
g (A) T (1) 9
(A) Only (1) is correct e
B) (1), (2), (3
(B) (1), (2), (3) are correct (B) (1), ), &)
(C) (1), (2), (4) are correct (C) (1), (2), (4) T
(D) Only (1) and (2) are correct (D) & (1) 9 (2) a4
35. Concentric Zone model includes the | 35. HHhald HicdY WEUM TE@El &
following zones within a city : Tt faum e
(1) Wholesale and light manu- (1) =&k 9 F@E@ﬁ"‘[ﬂé
facturing zone @) SRR &
(2) Commuter zone < n - .
(3) hIF AEHNIhR hl[ZdY
3) Central business district A m em
( (4) ST A e
(4) High class residential zone .
' T AT IR HFHAMAGT et
Arrange these zones in correct oot St st A s
sequence starting from the core of the r—
city by using codes given below : ’
@A) (1), 3). @), 2) A) (D), 3), (4), (2)
(©) @), (), @), @) ©) @), @), @), @
D) (2), 3), (1), (4) D) @), 3), (1), (4)
19 [P.T.O.



(A)
(B)
(®))

(D)

(A)

(B)

(C)

(D)
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(A)
(B)
(®))

(D)

AR ?
(A)

(B)

(C)

KSrerl|

(D) IEUE ST 9 AR GHIEH A
Q&3] HOR AT YETH AT
&
































































